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2 & Al

A

(ct9: & 2
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2
N 3,003,895 3,005,204 21,309
NEAMYe HEN &2 (LS IHH/LEHT) 356,824 324,273 32,551
KA A A 48,056 41,413 6,643
NEAM 2208 sS85 2tel 20,800 24,200 23,400
201 LEH2HH| 4,200 4,200 0
01 AtE22/Hl 4,200 4,200 0
OXNEgM S RXNE= 130,000& x12& 1,560
ONHYOIM ZelE RXE+ 220,000& <128 2,640
403 X HMESAH=01H 16,600 20,000 23,400
02 SISO HSCHA AL I 16,600 20,000 23,400
OHEZE XNgAM FEAMAE SXES 11,700,000 * 14! 11,700
OS& XM HZAAE(WeTAX) RAE=+ 4,900,000 14 4,900
Mel=g T2 2t 27,256 17,213 10,043
403 XXM SA=01d 27,256 17,213 10,043
02 BI12SOCHEHCHE A I 27,256 17,213 10,043
OAN2+= F2AAE RXNES 11,000,000& * 14! 11,000
OMe+=d FEAIAY D& FXASYI 16,256
- 8,128,000& 14 8,128
—SEEN2RA 8,128,000& 14 8,128
HEA NE2E & MEA =22 187,135 151,629 35,506
ANEAE 2 FA & =2 187,135 151,629 35,506
101 el 4] 21,254 25,080 A3,826
04 JI2tHIZ2E2 a2+ 21,254 25,080 A 3,826
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OHIZtAIZES 2] 21,254
—Jl=s 34,9103 x2ZF 200 13,964
—F=5=E 34,9103 x2H 52 3,631
— i X==g 34,910 x2H 152 1,048
—40 282 18,643,000& *14% 2,611

201 et 86,081 87,749 A 1,668

01 AtR2teld] 71,181 72,049 A 868
OXZAN DXM 7 22,800
-2 60,0008 x1808+ A 10,800
—=A2 60,000 *508F A 3,000
—AgE 60,0003 508 A 3,000
—dg= 60,0003 «1008+ A 6,000
OMel=2 DXAM 7 60,0003 302 A 1,800
(@FE=V =t 3,050
— KA B 35,0003 »30A 1,050
— AN &2 100,000& 20 2,000
OZgHII EH 2¢ 3,750
— =TI 250,000 * 154 3,750
OANI2l = X}l 10,000& 1502 1,500
(OFSFS=JNIE=T 16, 980& »300box 5,094
OJIEAHIRAAY SXE 220,000 1228 2,640
OBS QA HHEAAE RX2 4 340,000 »43] 1,360
OXgAN G228 a0 & 2tet H& 60,000 = 1201102 7,200
O=etl 12,495
—HEAN B & NSFEAL A4 7,000& 12 »70& 5,880
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OXPME 2R R 5,000 5002 2,500
OXIZA QUEY ABIIE L8 242 1002 %10,00024 1,000
zzeg| 14,900 15,700 A800
OABTHA DONTHE 4 250, 00021 x2021 5,000
OZ8HY M= 242 2,0002 x5002! 1,000
Ol 25X 248 1,000 %3001 300
OZBZAY NSOIX 248 5021 %20,00021 1,000

SAEX MY X2 308 %70,00021 2,100
OMlel4e JIAHE 018 802 *30,0002! 2,400
OXIZAl JtAAEOIS £ 802 20,0002 1,600
OXZ EDl 442 50 %30,0002! 1,500
o 10,000 10,000 0
2ot 10,000 10,000 0
OZHLH O 10,000

— MR E A 20,0002 *52 %502 5,000

— M 20,0002 *5 *502 5,000
A=Y 4,000 4,000 0
NEESE= TSI 4,000 4,000 0
ONISZA & HLtA LA 4,000,000 4,000
us B A 50,000 10,000 40,000
e A 50,000 10,000 40,000
OXZAl SALHR S4ERAX 20,0002 *500% 10,000
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B XAl o

SER-IEE Aﬂgggé HeM 2azel (e @
SA-BY () - HRAY - BES 0f & o4 e HI DS 2
OXSXAl 1024014 RE A= aZ(&AH]) 40,000,000 40,000
303 Za= 14,800 14,800 0
01 23 14,800 14,800 0
S2MHE =243 200,000,000 +5/100 10,000
OHMEHM g+ Za= 160,000,000 3/100 4,800
405 KHatH S 1,000 0 1,000
01 AL =S FSHI 1,000 0 1,000
OslissaEsrEe g8 2 1,000,000% *1CH 1,000
DAIAZES MAHH 2el 121,633 131,231 A9,598
HE =T R A 121,633 131,231 9,598
101 el 35,700 33,083 2,617
04 JIZtNZ2NHESE+ 35,700 33,083 2,617
O=ZHIEXALS (THHHE) 35,700
— ST IA EXRF 2 35,700
JlEs 34,9102+ 13F 1102 %50/ 100 24,961
FA=g 34,9102 13 x282 x50/ 100 6,354
-4HEE R 31,315,000& %14/100 4,385
201 2Bt 71,233 85,948 A14,715
01 AtR 22l 65,953 80,668 A14,715
OZHIEXALS (THEHE) 65,953
—d85rTE 6,000& x14,000& 1. 1%50/100 46,200
—KAlgol 2,685
2g. 238 SX=2 55,000 »128F A %23] x50/ 100 660
g2g. 0l2ad 502 +20,00024 2«50/ 100 1,000
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1,665,000& »23
50,700 = 18CH
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1,000,000& *13l
280,000& «12&
1,000,000& *13
380,000& 63
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Sl A & E2e (cte: =<
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*e 1,300 *4.8 £ 150 *8Al 2t+1CH 7,488
— 32 =H| 7,722
2o 1,3003+4.95 £ 1502 *BA[ 2+ 7,722
OXt&Hl 136,524
—SE 46,59
CH& (2,000cc O14}) 10,000
3| 22 (30,000kmOl &) 1CH 10,000,000& *1CH 10,000
- 8 (2,000cc 012H) 8,858
%22 (30,000kmO| &) 1CH 8,858,000 *1CH 8,858
AN=Z & Oh=H 19,071
% A3 (25,000kmO] &) 3CH 6,357,000& *3CH 19,071
- Z&(1,000cc 018H) 8,667
* 3|22 (25,000kmO| & )2CH 4,333,500 *2CH 8,667
—-sg 20,188
SE(8%,352/012+,30,000km0l &) 14,500,000 = 1CH 14,500
28 (Z5,152/012F,25,000km0l &) 5,688,000% *1CH 5,688
—3= 56,830
& (Z%,55014H,20,000kmO0l &) 1CH 7,000,000& »1CH 7,000
28 (2%, 1E015t,20,000km0l &) 11CH 4,530,000 = 11CH 49,830
—S= 12,910
S=a=XHER,20,000km0l &) 2CH 6,455,000 *2CH 12,910
OoxgEgx 253,000 »23LH 5,819
OXtS XHAl 3,278
— & & &XH(2,000cc Ol4tH) 594,000 1CH 594
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—d &S EXH(1,000cc OI2H) 64,0003 »2CH 128
Xz 2 O=H 479,8003 +3CH 1,440
-8 58,5003 *2CH 117
~si2 45,6002 14T} 639
202 O4Hl 3,600 0 3,600
01 =Yl 3,600 0 3,600
OXEEd ¥ FIIEZ283 ot 30,000 x 1«10 ~12& 3,600
HH2HZH (WD) (OIEHIIEH 177,924 172,493 5,431
QAR A 59,514 56,378 3,136
FAr2te| el2h| 59,514 56,378 3,136
101 Q14| 59,514 56,378 3,136
03 RIHAZZXNE = 59,514 56,378 3,136
O& A2 59,514
—Jl22 34,9103 »3H +300 31,419
—o0=2 31,419,000 *4/12 10,473
— 2=t 3 31,419,000 =10/100 3,142
— )24y 14,480
A2t =& 6, 180R «3H «10Al 2tx 123 2,225
se=g 34,9103 x3EH x40 4,190
=54 34,9103 3«52 5,446
HAXt=g 34,9103 x3H x25 2,619
Jl2&Hl 118,410 116,115 2,295
=&l 118,410 116,115 2,295
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o2 120,000 *27H » 123 38,880
O&2 ¢l 85,0003 x27H 10 22,950
203 HRF4HI 4,200 4,200 0
04 FN2ILRFAHI 4,200 4,200 0
ORNMBEHEZ=AI 350,000& 123 4,200
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